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Sec 9-6: Solving Rational Equations

1. Solve. Method 1:
~ . 1. Make ALL terms in the equation
Za\ + 7 - 5 have the same denominator.
9 6 3 2. Cancel out all denominators.

3. Finish by solving the resulting
equation for x.



1 Solve.
. Method 2:

1. Find the LCM of ALL denominators in
the equation
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2. Eliminate ALL Denominators by
multiplying both sides of the equation by
this LCM.

3. Finish by solving the resulting
equation

1 Solve.
D 9 7 5 Method 3:
— + — ”T 1. Simplify each side of the equation
2 ’ 9 6 J into a single fraction, creating a

proportion.
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3. Solve the resulting equation.



Solve.







Two trains leave a station and travel for the same amount of time. The first
train travels to Chicago, 480 miles away. The second train travels Smph

faster and travels to Pittsburgh, 510 miles away. Find the speed at which
each train has traveled. - OF_
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Solve.
4 " If you got x=-2 then
— = = all of your work is correct
Sx + 10 X+ 2 but....

-2 is NOT the solution!



Steps to follow when solving equations
1. Blah, Blah, Blah

2. Blah, Blah, Blah

Last Step: Check your answers

Extraneous Solutions

— X = -2 is an extraneous solution
x5 b o2 because it makes the equation
undefined!
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Solve.




